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Rovo said; rather, by carrying - 9°2pm3 K39 K RON

Overview

827 explained (initially) that the 71wn which stated "1 9757 17 that it must be 2w2
the whole time, is in a case where one is carrying 1"772 nK '7.! Our M9oI1n has a
difficulty with the answers of X27.

— 33519 NNHAYA 199N 2AMAnT NINN)
And that case in the mwn regarding 57992 is by a Xinom1 Rnsb —

mooIn has a difficulty:*
= 595299 %Y N1 NN D NN NIANT RXONN NWNYNY TINN NNY Y719 PNYY 13939 PPN

And the 5" does not know why it was necessary for the 71wn to inform us the
case of ;712n, what difference is there whether it is a 771217 or 9%2y» —

mooIn asks a similar question on the second answer of X27:
= 199207 NONN NXIN INNN S%NP *NIN 9INPT N2 19)

And similarly according to the second answer of 839 in which he said that the
mwn teaches two laws, the question still remains why did the NXin of the 71wn teach

that law regarding a 7913n, for -
NIV INNT D920 2133 221 DIV 92N PN NInNT 1’0

Since he already taught that one who throws and remembers is "W (even

without a X1n°»1 Xn3Y), the same will also be by 712n, for how is 7121 different
from P77, MO0 does not answer his questions.

Summary
The ruling about 771217 in the 71wn seems superfluous.

!'He is capable of stopping the 79872, however by n11 1 even if 7373 he would be 277
2 This case in the 73wn is where someone threw something at his friend in order to wound him (7712n) and he wounded
him. At this point in the X722 we assume that both by 772n and 7°2v» (the initial answer of &27) he is 7w, only if it
is done Rin°m1 XNoH3, but otherwise he is 2.
3 The mwn stated MWD 121 9311 121 72 Mwy? 1. He is 709 from (a nXwn for) making a 77120 only if it was Xn292
Rin°M, so he had the option of retrieving it, and since he did not, he is a 71 for the 7M2n. However if he did not utilize
a XN XN, he is 21 for the 712n even if 7011, See previous 89°0 7"7 'o1n [TIE footnote # 1].
4 At this point the mwn teaches us clearly the rule of 77121 and (according to 827) the 850 (of 121 99377 11) teaches us
the case of 7"ayn. The >"1 does not understand why we need both of these two cases.
5 In both cases he is able to stop the 73891 and since he did not, he is a 7 and is 1w,
6 This (second) answer of X271 maintains that 93111 17 (even without a X111 Rn37) is MWD (since it was not 21132 1910)
and if "21 2nX 70%pR, he is always Mo even if 1511 X9, The same will apply by 77120 that he is w9 if 2511 even without
a R ’noY.
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Thinking it over
The second answer of X217 was that the Xw™7 of the m1wn is (two cases; one) where he

remembered and it landed by itself, he is 75 (and secondly if he did not remember
and "21 9P he is Mwd). The 7awn then concludes 121 %9377 171, and according to &2
this comes to include 1"772 X"7 7°2vn. Our '01n asks that 720 is superfluous since
it is the same as p7; there is however (seemingly) a much stronger question, why
the mwn needs the 52277 777 to include 2°2avn; for if by pr (where he cannot retract)
the mawn rules by 2511 (without a Xin*m Xn3?) that he is Mo (since it was not 1910
72w32), so certainly by 7°2v» where he can retract, that he will be 715 by 1211, so why
the need for 99377 mr?!7

7 See (TRT) R"w.
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